EARAROBEEIERT — 2 N— IBISH —F

2018512898 (H) 19@E4R1H

Z%R— xg] 8 | [BEes - &) 15000 7
>R —#M C28 EEDEEE 4 (®) 2
[A&4] 1 %:250,00 ~ 23%&:57,000M” ~ 33#%&:30,000H  43#%:22,000M  57%:15,000 M
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S — N MAHIES] : -3-3- - £H—8 (£R)
i 3| TAV LTy it 3 s 1.(3_9).2 3-3-3-3 | 40.2 2 go) e
R:jyp—3)7> B:Eai-7470CFK 5 5
AP i 3 | KEH 1:39.4 2-2-2-2 | 40.8| — 3 480 | HARR (£R)
2fz|8| b—7T7L b 54.0 @/4) Cray) | #0) 77-xkEva>
R:ZAv—hT77)a> B:N=TTIWAYT ~— 74055
. . BILRT - S1- - EER (43R
slil1|7vu7erLsa— R oS B ° o | et
R:ZAv—h77)3> BTSAT7ALE— BREMHEEN RRHSE
N R EUIES : —7-7- — FlIHZ (£R)
4lglo|HFRIYTIUZR 8 e IR V& [wmaz
LIV INATA—h— BAZRIUNILT RIS
ShEss 41, —6-5- . — JIIRBAEL (£R)
N PR ER e o8 | AH A IR S I iiFcon
L:iwyVEddyk BixR2—<1> F]sbaed
s . 4 3 | EREA 1:41.1 3-3-3-4 | 42.1| — 4 498 | £E—8 (&R)
6177 ar/—bkhea21—X 56.0 (INF) (+4) FETH
LNZ—ka1—X B:x>H—/ FRRE  FEAR
— o= . FEEAA . 86— - £HE—& (&R
718l10| T T S vN i 3 e 1.(472>.6 8-8-6-6 | 42.5 7 (4_61§; g2
L. 2y)—-re—A— B:1-70=7 TJrZ—kINT7—L
- - TRERAH . 9-10~ _ REEE (&R
8 NEEPE L I 4 3 o (11.412/.29) 9-9-10-9 | 41.3 10 (3_912) i g
e/ EL—Ib BA(O—<T v T RO RIS
AP = H 3 | EEEE 1:42.9 10-10-9-8 | 41.5| — 9 530 | R=M%RE (£R)
9 4| TV T - 56.0 (NF) (+2) (R 3 P N
RN PVTTE BVl TUYT 4 — EAHTT— L
o= S 4 3 | Bt 1:46.1 3-5-7-10 | 45.9| — 6 393 | FUBBAE (£R)
10/ 515 N=/)LI—F 54.0 (%21 4) (-4) (#) #15
AL T7A4T7 BAFIAvF—2— e
® 1—F—@EBIERL
13—7+— 1,8,(3,5,7),(2,9),10,6,4
20—F— 1,8,(3,7),5,2,9,10,6,4
Jol=5r= 1,8,(3,7),2,10,(5,9) ,4,6
43—+ — 1,8,3,7,2,10,9,4,6,5
[ N5
B 3 490H 714K 3-8 280M e E 3-7 420 JEE 1-3-8 970/
B B 3 200/ 1-3 430 e B 3-7 910M EE 3-8-1 5,080
8 150 1-8 560M B & 3-8 610M
1 180 B HE 3-8 1,310M

ABICOVWTRDTEEERROODE. TR LIV,




